# Test-1Reasoning Ability

Direction (Q 1-5): Study the following arangement of letter-number-
symbol and answer the questions given below, :

b2

M2USD%9FI#Q*IAHST

Which of the following is exactly in the middle between the sixth from
the left and the eighth from the right end?

(a) A (k) 1 ey H

(d) @ _ {¢) None of these

How many such symbols are there in the above arrangement, each of
which is both immediately preceded and immediately followed by a
letter?

(a) One (b) Two {c) Three

{d) Four ie) None of these

How many such symbols are there in the above arrangement, each of
which is immediately preceded by a letter and immediately followed by
a number?

(a) None ib) One {c) Two

{d) Three ie) Maore than three

How many such consonants are there in the above arrangement, cach of
which is preceded by a vowel and followed by a symbol?

(a) None (b One Ae) Twa

{d) Three (e) More than three

Four of the following five are alike in a certain way based on their posi-
tion in the above arrangement and form a group. Which is the one that
does not belong to that group?

(a)259 (b) 1 Q* {c)% F#

[ (e} B (@ 6

Direction (Q 6—10): Study the [ollowing information carefully and answer
the questions given below,

(1) B Q,R, 8 Tand U are six villages situated on either side of a
road. Three villages are on each side. Village U is the smallest in
size,

(1)) Village R is bigger than () and opposite to village P. Village S is
next to the village U and is smaller than village T and P. Village
P is larger than village T and is not the largest. Village Q is next
to village R and is opposite to village S.



